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A & 0l & AF 2 E A A
NE RN -BIEF L SN HENERB
a0 &I EY
SETRV PRI BT (29l & 2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Geliszd 516,374,393 499,248,209 17,126,184
= 295,979,845
Xl 4,833,000
J| 19,438,923
< 196,122,625
Hylisz 2 516,374,393 499,248,209 17,126, 184
= 295,979,845
Xl 4,833,000
J| 19,438,923
< 196,122,625
HEN=EEH 28,413,243 33,083,852 A 4,670,609
= 9,549,167
J| 9,017,618
< 9,846,458
HESZFHONY 2,846,410 7,120,310 A 4,273,900
ML RA2Y 1,418,000 1,618,000 A 200,000
306 =3 1,018,000 1,018,000 0
01 &3 1,018,000 1,018,000 0
OdEMNeg=24d 1,018,000
308 MtXIEHSOIH 400,000 600,000 200,000
10 SISOt Ba XA 400,000 600,000 200,000
OWddXelA2stnzd 400,000
EHNE0E=2Y 402,810 402,810 0
307 gl2tol & 402,810 402,810 0
05 Rzt &= 402,810 402,810 0
Oz&Ezod=2d 402,810
HEII=ESetid g 930,000 5,013,500 A 4,083,500
401 Al HIZ 201 8] 930,000 5,013,500 A 4,083,500
01 A& HI 930,000 5,000,000 A 4,070,000
OWEIHEEAHAE 930,000
HENELRF 95,600 76,000 19,600
201 Let2d] 50,000 30,000 20,000
01 At 22l 50,000 30,000 20,000
Opt=2Hl 45,000
ONHdI=EEMEER 20,000
OAZ2INRALSESH IS 10,000
ON&IEgRLe =2t 15,000
O=2g=¢ 5,000
ORI+ 5,000
202 O4dl 37,000 37,000 0
01 = LH o4 1l 37,000 37,000 0
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NE RN -BIEF L SN HENERB
B o4 EE N
Sl oA BSAN S (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

== 25,000

11T MISXASEX 50,000 50,000 0
OOGtHMAHCIHINEHEH 2 X 50,000
= 25,000
< 25,000

ZACENHLdHSNA 3,686,050 3,535,415 150,635
= 2,548,180
J| 311,400
< 826,470

ZAHLSMZ LGIHEHZSE 939,060 921,074 17,986
= 357,780
< 581,280

307 21201 A 939,060 921,074 17,986
= 357,780
< 581,280

11T M3 SXAISEEX 939,060 921,074 17,986
OFIAHLMZLoIdEH2YE 939,060
= 357,780
=) 581,280

HEMZLSHIIMEHZY 2,428,390 2,315,841 112,549
= 2,190,400
< 237,990

308 A EHHSOIA 2,428,390 2,315,841 112,549
= 2,190,400
< 237,990

01 HXNHHNBHEES 2,428,390 2,315,841 112,549
OEMZLGIIMEHZ S 2,428,390
= 2,190,400
< 237,990

ZEHEHLEDEFTIXIAY 225,000 150,000 75,000
J| 225,000

308 XXM SOl A 225,000 150,000 75,000
J| 225,000

01 IXNHHBNEES 225,000 150,000 75,000
OJEHEHLDEFIX A ALY 225,000
J| 225,000

ZEUHLENG LRl HS XA 93,600 88,500 5,100
J| 86,400
= 7,200

307 21201 A 12,000 12,000 0
J| 9,600
< 2,400

11 AL SXAIEE =X 12,000 12,000 0
OZS0I00HAEH2YT 2 (ZEY) 12,000
Jl 9,600




NS L S IENCEEBIES EE
B o4 EE N
Sl AELBHAHY N (S &2)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
== 2,400
308 XX EHSOIA 81,600 76,500 5,100
J| 76,800
< 4,800
01 HIXNHHNBMNEES 81,600 76,500 5,100
OZE0I2HLUE2EXA 81,600
J| 76,800
= 4,800
A2 AS &0 449,200 407,600 41,600
HEAASIEHEHXA 18,600 18,800 A 200
201 Let24E] 2,000 2,000 0
01 At 22l 2,000 2,000 0
Oger==&H| 2,000
OERSHHN TS ALK& 2,000
202 Oddl 11,700 11,700 0
01 = LH 4 bl 11,700 11,700 0
OWEEHMEHENESAERFE 0 11,700
203 YR =&t 4,300 4,500 A 200
03 A FAH S =AY 4,300 4,500 A 200
OWEEMEHENESAA2EHEFA 4,300
303 Z&= 600 600 0
01 243 600 600 0
OYEBSFAINEHLLHRTZRATY 600
[CRSPNEDNE=p 50,000 40,000 10,000
307 glz2tol & 50,000 40,000 10,000
11T M SXASEX 50,000 40,000 10,000
O3HE8NENHS LS 20,000
Jga=so4dotztaoleg 30,000
EeHNEsSXE 81,800 50,000 31,800
307 21201 A 56,800 50,000 6,800
T M SXAISEE X 56,800 50,000 6,800
O=ddeMgds X 50,000
R0 0ot=2ddBS AR X &AL 6,800
308 MXIEHMSOIH 25,000 0 25,000
01 HXNHHNBHELS 25,000 0 25,000
OF2NHUMH 25,000
SHESF2AIEAEY 55,000 55,000 0
307 gl2tol & 55,000 55,000 0
11T AS S RAEE = 55,000 55,000 0




- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2

OJxdESF2018 4 55,000
HENsga2s 37,000 37,000 0
307 giztol & 37,000 37,000 0
11T AISIEXAIEEX 37,000 37,000 0

OANEHAEASHRE XA 7,000

O&E=2M0s XA 30,000
e sA 91,800 91,800 0
308 XHXIEHSOlIA 91,800 91,800 0
01 AIXSHMEAMNEX= 91,800 91,800 0

O SHEX& 52,200

O dEgsogz )aEHIA 39,600
HEMIRNnSZIZ IHSA 115,000 115,000 0
308 XX SHHSOIH 115,000 115,000 0]
01 AIXSHMEMNEX= 115,000 115,000 0

O Oyst x| & 46,000

OosHd3 & X & 69,000
HeAHASA 4,359,053 3,889,719 469,334

= 216,914

J| 2,997,647

= 1,144,492
4 OH DH IZ| oH KF Kl & A 448,163 424 316 23,847

J| 379,870

= 68,293
308 XAXIGHHM SO0l & 448,163 424 316 23,847

J| 379,870

= 68,293
01 IXHHIMNEXZ 448,163 424 316 23,847

[JSOHOHIIOH KERI R A E2H A 246,480

J| 218,400

= 28,080

OH0HOH T A EASHXH 94 575

J| 72,750

= 21,825

CJAOHOH I o AF2 = K& 29,343

J| 26,000

= 3,343

O EZ XS A sLAIY 29| 52,936

J| 40,720

= 12,216

MO Z XS EI)Is2LSOHE X 2] 24,829

J| 22,000

o 2,829
HEZH0 Y23 26,000 15,000 11,000




M ox
40 5 4

= - — SHE]|
SN B E(BH) - NREMY - BYS e bl D=2t

307 glz2tol & 26,000 15,000 11,000
04 DI2HHALALSE E X 5,000 0 5,000

OJrg=Edog g (2etdol) X 5,000
11T M SXAISEEX 21,000 15,000 6,000

OHEZELGAHANESANAESNS 15,000

OFd0gsSAstE3AEHAL NS 6,000
HEZHIHNESKR 96,100 155,600 A 59,500
307 eI+l & 88,600 148,100 A 59,500
11T MISXASEX 88,600 148,100 A 59,500

OW&2 28313662 S TG M2 X 56,600

OZ2solgdagdlsdst 32,000
308 AXIEHSOIA 7,500 7,500 0
01 HIXNHHNBMNELS 7,500 7,500 0

OgIHd2sE 7,500
SEARHANESAA=Z A 109,536 93,976 15,560
307 glz2+ol & 82,320 66,760 15,560
11T MISRASER 82,320 66,760 15,560

OE =8 2HANESMASE(E) 82,320
308 XXIEHHSOIA 27,216 27,216 0
01 HXNHHBHELS 27,216 27,216 0

OGS =SB 2AANESANSL (AZ) 27,216
ZATMHAKSE(Z) 1,578,681 1,150,284 428,397

J| 1,304,567

< 274,114
307 glz2tol & 1,576,681 1,150,284 426,397

J| 1,303,567

< 273,114
10 AL SXNAIEEHE2EH EX 1,556,681 1,135,284 421,397

OZS=SRdibiet) e 29 X & 297,500

J| 208,250

< 89,250

OZ=s2oittetIdeH2I X 647,000

J| 647,000

OZSMEottetIldEeH2 I K& 297,800

J| 208,250

< 89,550

OtsEAUEZEHHS2 I ALY 228,116

J| 159,682

= 68,434

O3 =2E X2 86,265

J| 60,385

< 25,880
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% - 4 14
S - B - S9(3H) - M %Eﬁ HR=2
Pl 89,252
& 11,475
308 XHXIEH SO0l A 100,727 95,418 5,309
J| 89,252
&< 11,475
01 AEXIS A AS 100,727 95,418 5,309
OJtEZ& ol X 60,595
J| 53,692
& 6,903
&= Dol AH 40,132
J| 35,560
& 4 572
HEZaAGT YOl AHKR(E 453,208 386,942 66,266
J| 211,604
= 241,604
307 2Iz2t0| & 445,208 378,942 66,266
J| 207,604
o 237,604
10 AISIEXAIEEHA 442 328 376,062 66,266
O 2 28 31366 442 328
J| 206, 164
= 236, 164
11 Al EXAIEEX 2,880 2,880 0
Oog=2d 2,880
J| 1,440
& 1,440
402 BI2H X201 M 8,000 8,000 0
J| 4,000
o= 4,000
01 QIZEXIEAIE 2 X 8,000 8,000 0
[J13664IEH I s 2 8,000
J| 4,000
= 4,000
HEZAGX LI oHKXIR (AlZ) 241,132 236,381 4,751
J| 214,724
& 26,408
308 XNXIGHHSO0l& 241,132 236,381 4,751
J| 214,724
& 26,408
01 AIXISHIEAMNEX 241,132 236,381 4,751
OJt&E ==X 150,758
J| 133,584
== 17,174
OJIE =06 X ENESIES= D\
Hl X & 13,000
J| 13,000




AR EIIEEHD S IENCEEBIES-EE,
EELENVIEBIE L
ool RS CER-ED
= - — SHE]|
MR 2N FB-BA(E) - MRAY - BAS 0l &k 24 e bl D=2t
OWdZH2dEALdSAILS 10,224
J| 8,640
< 1,584
O EZ2LGIi X2 EZZ2OH2I A2 33,857
J| 30,000
< 3,857
O3 =g0ai = H A& 29,343
J| 26,000
< 3,343
OJtEZ4Toi A=l 3,950
J| 3,500
< 450
S OEOENANNSYE A3 185,054 189,572 ~4,518
2 131,914
< 53,140
307 gl2tol & 38,760 38,720 40
= 19,380
< 19,380
11T ALS S XAEE = 38,760 38,720 40
Jotdoz)3#2d 31,520
= 15,760
< 15,760
OOsSHYAEXNEANR2E(Z) 7,240
= 3,620
< 3,620
308 MtXIEHSOIH 146,294 150,852 A 4,558
= 112,534
< 33,760
01 AXSHBLELS 146,294 150,852 A 4,558
COots ™ Xl = Jl = 38,056
= 29,274
< 8,782
OOSHEAMRAAU2 LG (AlT) 108,238
= 83,260
< 24,978
NG L22IREH 32,400 16,500 15,900
308 XtXIEHH SOl A 32,400 16,500 15,900
01 IXNHHBANEES 32,400 16,500 15,900
O0XN2agGa2IR 32,400
QOIS HLIMEHHX A 3,000 3,000 0
308 A EHHSOIA 3,000 3,000 0
01 HXNHHNBMNEELES 3,000 3,000 0
O2ZIoignL MetE g X 3,000
HOlANE 130,000 160,000 A 30,000
= 85,000




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

< 45,000

307 glz2tol & 130,000 160,000 A 30,000
= 85,000
< 45,000

11T MISXASEEX 130,000 160,000 A 30,000
OsthoMedeA NS 34,000
= 17,000
< 17,000
OXHOtsEATHANF 40,000
= 40,000
OZSigusIgiali22d 56,000
= 28,000
< 28,000

AL INELSEH 14,155,634 15,453,278 A 1,297,644
= 6,707,000
J| 4,621,050
= 2,827,584

2NN 240,500 233,350 7,150
2 185,000
< 55,500

308 XXIEHH SOl A 240,500 233,350 7,150
= 185,000
< 55,500

01 AXHHBIYEES 240,500 233,350 7,150
ORIt E XA 240,500
= 185,000
< 55,500

OtOI S S K& At 7,385,180 7,462,760 ATT,580
= 6,522,000
< 863,180

307 21201 A 117,320 117,320 0
= 82,124
< 35,196

11T AL S XA E = 117,320 117,320 0
OO0l S S X AL EZANEIN22EXE 117,320
= 82,124
< 35,196

308 XHXI &M S0l &® 7,267,860 7,345,440 AT7,580
2 6,439,876
= 827,984

01 IXNHHBNEES 7,267,860 7,345,440 ATT7,580
dotolss X & 7,267,860
= 6,439,876
< 827,984

ALIE LI 75,000 145,000 270,000

307 21201 A 45,000 115,000 A70,000




AR HEIEHH =
B o4 EE N
ool AYBINSSIEL CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
04 SIZ2ISHAAIH E & 30,000 0 30,000
OBAASCIIEHEQIEH 3 X 30,000
11T A EXAIEEX 15,000 15,000 0
Od2Jt&Eotd ol g 15,000
308 XAHXIEHM SOl A 30,000 30,000 0
01 AIXSHMEAMNEX= 30,000 30,000 0
OJIE IS8 AL 30,000
ALNELU2SIEXNA 1,504,191 744,962 759,229
J| 1,168,147
& 336,044
308 XAHXIGH SO0l & 1,504,191 744,962 759,229
J| 1,168,147
& 336,044
01 AXHHNIMNEXS 1,504,191 744,962 759,229
JZ2s=0IL=sHE2Y 94,800
J| 84,000
o 10,800
OJHLINE USRS IS FEHHESE HHIAXR 935,473
J| 719,595
= 215,878
DAL XN HEHXH 343,918
D] 264,552
& 79,366
CORAULAZUHCI K ALS 130,000
J| 100,000
& 30,000
SHEEIIEXI (KA 864,714 864,714 0
307 2iz2to| A 30,000 30,000 0
11T AISIEXAIEEX 30,000 30,000 0
OstE2IIsXEesn2d 30,000
308 ANXISHHMSOIA 834,714 834,714 0
01 IXHHIMNEXS 834,714 834,714 0
Ot 2IIEXNE X2 72,000
OstE2IIsgsAH S| 366,000
OstE 2= X (XA 396,714
SHERIEXA(EX) 3,547,500 3,560,572 N 13,072
J| 3,300,000
o= 247,500
308 MXISHMSOIA 3,547,500 3,560,572 A 13,072
J| 3,300,000
& 247,500
01 AIXSHMENMNEXZ 3,547,500 3,560,572 N 13,072
OstEBIIEX|(EX) 3,547,500




A= HEIEEH = =2
M go=Ed
SHol: AYBINEL2oEY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 3,300,000
= 247,500
SIRRINESXIAIE X2 (XA 361,105 268,694 92,411
307 gl2tol & 15,000 15,000 0
11T ALS S RAEE = 15,000 15,000 0
OSRINESANAELANLSARNAIS 15,000
308 XXM SOIA 346,105 249,284 96,821
01 IXNHHBNEES 346,105 249,284 96,821
Ost2LNE=XNAESAMAE 15,120
OStELNE=SXNAISE XA (KHA) 330,985
SIRLINESTAERNR (EX) 91,194 102,870 A 11,676
J| 77,903
< 13,291
308 XX EHSOIA 67,530 60,880 6,650
J| 59,700
< 7,830
01 HIXNHHNBMNEES 67,530 60,880 6,650
OstR2NESNALLALANLEEINZ XA 33,930
J| 26,100
= 7,830
OZ2sENEEFTHNR 33,600
J| 33,600
403 Lt XIS A S X201 & 23,664 41,990 A 18,326
J| 18,203
< 5,461
01 X SHMA2E X 23,664 41,990 A 18,326
OstR2HE=EXNALEIIsES 23,664
J| 18,203
< 5,461
HAUBE R 86,250 70,356 15,894
J| 75,000
< 11,250
308 XXM SOl A 86,250 70,356 15,894
J| 75,000
< 11,250
01 AXHHBILEES 86,250 70,356 15,894
OFAESRINE X 53,750
J| 50,000
< 3,750
OASEDE2RXX A 32,500
J| 25,000
< 7,500
IHEAE LY LA 2,021,296 1,735,130 286, 166
= 52,073
J| 1,087,521




M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
< 881,702
FHAHNSOIsHESH 661,758 596,644 65,114
307 glz2tol & 348,554 277,824 70,730
10 AL SXAIEEHE 2 H EX 329,614 272,324 57,290
O/ XN2MMEH2E 329,614
11T M3 SXAISEEX 18,940 5,500 13,440
ONEASXNBEUEHS AN 13,440
OLANEAEXE 5,500
308 XXM SOIA 313,204 318,820 25,616
01 IXNHHBNEES 313,204 318,820 25,616
OXFE/AE LN 207,000
O28AHIHE XA 3,420
OFAHSOHS X 102,784
AU=XRA 58,000 35,800 22,200
307 21201 A 58,000 19,600 38,400
06 2= 42,000 12,600 29,400
Jggotsaoi2d =2 X 42,000
11T M SRASEEX 16,000 7,000 9,000
O<cl=s0tSL LIS A 16,000
OIS I E X 2 1,207,345 1,023, 148 204,197
J| 1,087,521
< 139,824
308 XXM SOIA 1,227,345 1,023, 148 204,197
J| 1,087,521
< 139,824
01 AXHHBIYEES 1,227,345 1,023, 148 204,197
DdotsHsXE 1,227,345
J| 1,087,521
< 139,824
IIERAERNH - 29 74,193 79,538 A5,345
= 52,073
< 22,120
307 2I2+0 & 73,450 72,800 650
= 51,415
< 22,035
06 2= 73,450 72,800 650
OGE/AE s EE =X 73,450
= 51,415
< 22,035
308 XXM SO A 743 6,738 A5,995
= 658
< 85




GEIEHH B SN OHERE
oI EE Y
YIS UK (er:@e)
2SN B () NEAY - BAS 0 AF o il HZS2
01 XHNBMNEXTZ 743 6,738 AN5,995
Jegg - JI8EoIsAes X 743
= 658
= 85
SIA M 6,258,582 6,989,521 A 730,939
Dl 4,291,048
& 1,967,534
2L E3AIE =N 6,258,582 6,989,521 A 730,939
Jl 4,291,048
& 1,967,534
2SS XIS (KA 1,166,404 938,760 227,644
201 et A | 38,000 35,000 3,000
01 AFR2t2l Yl 38,000 35,000 3,000
O gBt==H| 31,000
OSSN HANESRALS 21 I &2t 17,000
OA=0l =0 MEOHH IOl E M & 14,000
Og2g+g 7,000
OUSSINEXNHEAZ LIS A AL
=4 7,000
202 (4] 36,000 45,360 AN 9,360
01 2L Y] 36,000 45,360 N 9,360
OG22 s R2FE Y 36,000
203 Q2 =AY 8,600 9,000 A400
03 AIHZ=XIH R =XY| 8,600 9,000 AN 400
OCEstot=X & 2te g R =& 8,600
307 @120l & 585,000 355,000 230,000
11 AMISXAEEXR 585,000 355,000 230,000
OCEstsas gl LI 52 100,000
OGS XNJALFTXEASAIG K& 30,000
OCESHEXNEHNSAHU S 50,000
OG22t EsUAZ LS 10,000
OGS 3sol M Al H & =& 70,000
OCH23I0IES0S2 S X2 E AL X & 50,000
OCZStEREAMANSHLSRHIAS 35,000
OBM=EUOSSINEXNJEHXH 120,000
OCEZstot=E e At 120,000
308 AHXI S M SO0l & 498,804 488,400 10,404
01 AIXHMBAEXZ 498,804 488,400 10,404
OJZs0l0id=s2e2Y 128,000
OC2SIIIEEXNANES AN 38,304
Ocaasssstgsia 18,500




NS L S IENCEEBIES-EE,
M O2otE M
©e: AUSHC2SAME S (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OOIssosdeite 100,000
OZ2eolgodun=sEx& 24,000
OUsHssstZ=20H2G N2 110,000
G230l = 80,000
ZOH0I = XA 232,844 228,206 4,638
J| 206,318
< 26,526
308 MXIEHSOIH 232,844 228,206 4,638
J| 206,318
< 26,526
01 HXNHHNBHELS 232,844 228,206 4,638
O0=0HdE2SAME2YE 232,844
J| 206,318
= 26,526
CESIIEYSLSML S (M) 69,900 82,500 A 12,600
308 XX EHHSOIA 69,900 82,500 A 12,600
01 HIXNHHNBHNEES 69,900 82,500 A 12,600
OS2 NESL 2N A2 S K& 69,900
Ct2sthtsd =X & 4,789,434 5,740,055 A 950,621
J| 4,084,730
= 704,704
308 XXM SOIA 4,789,434 5,740,055 A 950,621
J| 4,084,730
< 704,704
01 AXHHBYEES 4,789,434 5,740,055 A 950,621
OG=2stHsd=Xd 4,789,434
Jl| 4,084,730
< 704,704
Es0tsdASd 433,039,948 412,866,718 20,173,230
= 269,548,053
< 163,491,895
ESMHEIAXRA 432,317,723 412,243,518 20,074,205
= 269,070,958
< 163,246,765
ESHMLAJZ KR 5,000 5,000 0
201 Let24d| 5,000 5,000 0
01 At 22l 5,000 5,000 0
O=2g=¢ 5,000
O MAJ3=H LN 5,000
ESRISRIANY 6,500 3,500 3,000
201 Let24E] 6,000 3,000 3,000
01 At 22l 6,000 3,000 3,000




VPEBIEEETE SN OHERE
ER0SHAST
S AHAXNS e ®H)
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ofl At o4 %Eﬁ HR=2
OaBtL&H| 6,000
OESYIAREEMAHS 3,000
OZ2Z28Hel ol &A= IH A & 3,000
303 ZAZ2 500 500 0
01 ZAZ 500 500 0
OBESRE2SFAIY 500
HEl 0| & WAAA XS 106,790 106,790 0
= 53,395
o= 53,395
307 212t0| ™ 106,790 106,790 0
= 53,395
o= 53,395
11 A EXAIEE X 106,790 106,790 0
OJHE oM AL X 106,790
= 53,395
& 53,395
FOISEXNJEEHSH 524,384 312,000 212,384
= 269,192
& 255,192
307 2Iz2to| & 498,384 312,000 186,384
= 249,192
= 249,192
10 MM SXAANEEHESIGHEX 498,384 312,000 186,384
OIS XNFHdH2A 498,384
= 249,192
=} 249,192
308 AMXISHHSOIA 26,000 0 26,000
= 20,000
= 6,000
01 IXHHIMNEXZ 26,000 0 26,000
OANZF0SSXNALMEHSE 26,000
= 20,000
& 6,000
FONAJANAHAH L 2AH XS 54,664,785 45,463,921 9,200,864
= 41,724,647
== 12,940,138
307 212t0| & 1,207,840 368,728 839,112
= 603,920
o=t 603,920
11 A EXAIEEX 1,207,840 368,728 839,112
OOl & CHA 2 AFXI & 1,207,840
= 603,920
= 603,920
308 XAHXIGHH SO0l & 53,456,945 45,095, 193 8,361,752
= 41,120,727




AT I SN OHERE
M BR0lSAHY ST
& ESMHAXH (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
< 12,336,218
01 IXNHHBNEES 53,456,945 45,095,193 8,361,752
ESWNAAAAH X2 EHI XS 53,456,945
= 41,120,727
< 12,336,218
dRoEssXE 198,192,024 187,921,642 10,270,382
= 163,070,000
= 35,122,024
308 XX EHHSOIA 198,192,024 187,921,642 10,270,382
= 163,070,000
< 35,122,024
01 X HHILEXS 198,192,024 187,921,642 10,270,382
ggsoteszNd 198,192,024
= 163,070,000
=) 35,122,024
==X 67,737,749 61,667,679 6,070,070
= 59,760,000
< 7,977,749
308 AHXIEHHSOIA 67,737,749 61,667,679 6,070,070
= 59,760,000
< 7,977,749
01 HIXNHHNBMNELS 67,737,749 61,667,679 6,070,070
Odtgegdss==4ia 67,737,749
= 59,760,000
< 7,977,749
EsH24s 150,000 130,000 20,000
307 glz2+ol & 110,000 90,000 20,000
11T MISXASER 110,000 90,000 20,000
bogolddgagdstard 25,000
O o2/ ISE 35,000
SR 2IIUE XA 15,000
X - HEMSSEZ DS 15,000
Oogoldadstzz 0 10,000
O0goldEsudIAEzuls 10,000
308 A EHHSOIA 40,000 40,000 0
01 HIXNHHNBHELS 40,000 40,000 0
O2soisl 40,000
BEDNAAASA 3,308,520 3,040,000 268,520
308 XX EHSOIA 3,308,520 3,040,000 268,520
01 HIXNHHBNEES 3,308,520 3,040,000 268,520
OEsuXHEA=ZX& 3,188,520
OXOOtEENHIAEE =G 120,000




M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
SO0ISESXNJHHE A3 190,000 170,000 20,000
307 gl2tol & 190,000 170,000 20,000
11T AS S RAEE = 190,000 170,000 20,000
OSOtSENJMHEZ ISR 30,000
OS2 08X 20,000
OtEY=so2 08X 30,000
OO0l d2LHAE X 20,000
ggitelsxzd=zzOdaxA 70,000
OeodeRusaz )3 A 20,000
FaeEsa435 101,980,130 108,811,190 26,831,060
308 XXM SOIA 101,980,130 108,781,190 26,801,060
01 AXHHBILEES 101,980,130 108,781,190 26,801,060
OE=s0ts2tAldl 2,500,000
OO0 e ol & Xt &= Xl bl 98,400
ES0tsHE I E &Y 5,000
OOt e ol & X2 Il 144,000
OFOMoOtsHEI Ol AS S 19,200
O ol E&Z Ml X2 200,000
OO OHOLME S 012l Ol & DI Arel 24 H] 60,000
ool &y et S A3l bl 54,750
O5cltd 98,573,520
ODeEh=sEsE 325,260
S380oegod 4,680,000 4,018,116 661,884
= 3,600,000
< 1,080,000
308 MtXIEHMSOIH 4,680,000 4,018,116 661,884
= 3,600,000
< 1,080,000
01 HXNHHMBHEES 4,680,000 4,018,116 661,884
O32EHeoEXA 4,680,000
=2 3,600,000
= 1,080,000
FRIUHEH2E 77,870 87,401 A 9,531
= 59,900
< 17,970
308 XX EHHSOIA 77,870 87,401 A 9,531
= 59,900
< 17,970
01 HIXNHHBNEES 77,870 87,401 A 9,531
ORLILIHEH2SE XN 77,870
= 59,900
< 17,970




NENVPSIESEE SH oA
Hu: 2ROISHASA
o9l BSMHIAX (e9: & 9)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
ANAXISEHEFAY 693,971 456,279 237,692
= 533,824
& 160, 147
308 XAHXIEHSOIA 680,971 430,279 250,692
= 523,824
= 157,147
01 AIXSHMENMNEX= 680,971 430,279 250,692
OAMNAXNSEESIH 680,971
= 523,824
=} 157,147
403 XX SHHS K20 & 13,000 26,000 A 13,000
= 10,000
& 3,000
01 XIS A =2E X 13,000 26,000 A 13,000
OANAXNSEESINAIsEZ 13,000
= 10,000
o= 3,000
Helol&EtHFINA 722,225 623,200 99,025
= 477,095
o= 245,130
el old &= 100,750 0 100,750
= 77,500
=} 23,250
403 XX S M S K201 A 100,750 0 100,750
= 77,500
= 23,250
01 IS A2E X 100,750 0 100,750
e oI ME=AY 100,750
= 77,500
= 23,250
HeElo|&DIseEd 519,475 369,200 150,275
= 399,595
o=t 119,880
403 XX SHHS K20 & 519,475 369,200 150,275
= 399,595
& 119,880
01 AIXISHHMA2E X 519,475 369,200 150,275
OEoI&IIsEd 519,475
= 399,595
& 119,880
28)|s23 102,000 254,000 A 152,000
308 XAHXIGHH SO0l & 102,000 74,000 28,000
01 HXHHIMNEXS 102,000 74,000 28,000
UGN SA 102,000




Ol%é—. II;J (cho &)
2SN B () NEAY - BAS 0 AF o il HZS2
MelOlsE8YES 32,199,883 32,992, 153 NT792,270

= 16,467,425
Dl 1,432,184
< 14,300,274
Otsa9 - =EXSA 32,199,883 32,992, 153 NT792,270
= 16,467,425
Jl 1,432,184
T 14,300,274
ERISEIEHSXA 310,224 258,280 51,944
201 LEt2 Y| 10,224 0 10,224
01 At 22l Yl 10,224 0 10,224
Ogds¢ 10,224
OMISXNALESHEEHIIRR— LAY 10,224
307 QI2t0| ™ 300,000 258,280 41,720
10 MBI SXAIEEHESIHIEX 300,000 258,280 41,720
OZHAJ|22H X3 300,000
OlsHYSNLHEE S 75,000 75,000 0
307 QI2t0| M 35,000 35,000 0
11 AMIASXAEE X 35,000 35,000 0
O3S0l Y& LAY 25,000
Oots2EAERIAS 10,000
308 XtXI S M SO0l & 40,000 40,000 0
01 AIXHMBANEXZ 40,000 40,000 0
OO0l & A 40,000
OtSstHol 2 < 2 A 20,160 36,480 A 16,320
308 AXISHXSOoIH 20,160 12,480 7,680
01 AXHNNBMNEXTZ 20,160 12,480 7,680
OXNESESH2IN2ASAIARE Y 20,160
ANEOISHEEH 1,530,055 1,445,380 84,675
307 212t01 & 138,000 135,000 3,000
10 M SXAEEE2IHIEX 50,000 50,000 0
OotsEsXsANESHENH 20,000
OotsHEXJMdHSE X 30,000
11 AMISAAEE X 88,000 85,000 3,000
OANEEAOSAZ2LH S S H ALY 20,000
OXIANLESE=2UIEILA 18,000
OAEOtsSESEu=H XA 20,000
COtS=XIAIE S AXAH 20,000
OO sESXAIESANYE RS 10,000
308 XX SHAMSOIA 1,392,055 1,310,380 81,675




M ox
40 5 4

A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
01 HIXNHHNBHNEES 1,392,055 1,310,380 81,675
OO SLSAL2I L AL H X 1,149,295
LOots=XNAIESA XS 104,160
EA0ISTHEEES 135,000
O 2E0sSSALEZ2 222X 3,600
ZAots2 AN 8,818,463 10,791,575 A1,973,112
308 MXIEHMSOIH 8,818,463 10,791,575 A1,973,112
01 AXHHBAEES 8,818,463 10,791,575 A1,973,112
Ogsrssa 1,408,825
OsIsESsLsA 7,226,888
OXSotsteHssSa X 182,750
RESOsIEE=23INE 280,335 282,077 A1,742
J| 193,335
< 87,000
308 X EHHSOIA 280,335 282,077 A1,742
J| 193,335
< 87,000
01 HIXNHHNBMNEES 280,335 282,077 N1,742
ORESOHsIEE2EXA 280,335
J| 193,335
=) 87,000
Sti{IloiolsdH29Y 293,410 76,299 217,111
J| 202,352
=) 91,058
308 XXM SO A 293,410 76,299 217,111
J| 202,352
=) 91,058
01 AXHHBISEES 293,410 76,299 217,111
JetiooiotsdH2 g 293,410
J| 202,352
< 91,058
OtS 22 X3 A 736,973 738,621 A 1,648
= 653,014
< 83,959
308 MtXIEHSOIH 736,973 738,621 A1,648
= 653,014
< 83,959
01 HXNHHBHEELS 736,973 738,621 A 1,648
Oots2 X2 A EX & 736,973
= 653,014
S 83,959
Ot= =Xl W AtIHA X| & 1,694,784 1,694,784 0
= 1,303,680
=) 391,104




%é—. II;J (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
308 XXM SO0 A 1,694,784 1,694,784 0
= 1,303,680
< 391,104
01 HIXNHHBHNEELES 1,694,784 1,694,784 0
OdotsS=X WAHIHA X & 1,694,784
= 1,303,680
< 391,104
SAEEAY 6,900,000 6,450,000 450,000
= 6,900,000
308 XXM S0l A 6,900,000 6,450,000 450,000
= 6,900,000
01 IXNHHBANEES 6,900,000 6,450,000 450,000
OEHAEBEAY 6,900,000
= 6,900,000
SAUANEIIsE2S 23,387 702,935 A679,548
| 17,990
= 5,397
403 A X EHS =0l A 23,387 702,935 A679,548
| 17,990
= 5,397
TAXEH =2 X 23,387 702,935 A679,548
dots=XNAIdIIsE22 23,387
| 17,990
= 5,397
ANEotsSHEHSG XA (KA 221,760 77,920 143,840
307 glz2tol & 3,600 0 3,600
11 ASI S XA E = 3,600 0 3,600
OXY90tsdEOtS =MoL 3,600
308 XXt S0l A 218,160 77,920 140,240
01 IXNHHBANEES 218,160 77,920 140,240
OXNSGOotsHEHEANS 188,160
OXSotsHHESEZZ ISR 30,000
NEotsdH2I XA 9,750,351 9,208,076 542,275
= 7,500,270
< 2,250,081
308 XXM S0 A 9,750,351 9,208,076 542,275
= 7,500,270
< 2,250,081
01 HIXNHHBNEES 9,750,351 9,208,076 542,275
OX<EotsHH2E X 9,750,351
= 7,500,270
< 2,250,081
AOtsSEEHEIIH2G XA 45,922 58,390 AN 12,468
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40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

= 22,961
= 22,961

307 glz2tol & 45,922 58,390 N 12,468
= 22,961
= 22,961

11T M SXASEEX 45,922 58,390 N 12,468
OXY0lsdEHEIS2IRA 45,922
= 22,961
< 22,961

NAOSHEHACTNRS 2SN 175,000 175,000 0
2 87,500
< 87,500

307 21201 A 175,000 175,000 0
= 87,500
< 87,500

11T M3 SXAISEEX 175,000 175,000 0
OXNSOotsHBEHAEXNASG2E XA 175,000
= 87,500
< 87,500

OIsEsdEII22E X & 1,324,059 921,336 402,723
J| 1,018,507
< 305,552

308 A EHHSOIA 1,324,059 671,971 652,088
J| 1,018,507
< 305,552

01 HXNHHNBHEES 1,324,059 671,971 652,088
OXSGots 282l 22X 1,324,059
J| 1,018,507
< 305,552

ATMHAUSHYBS 16,383,977 13,239,725 3,144,252
= 415,200
Xl 4,833,000
J| 4,698,073
=) 6,437,704

BAUSHESX 9,624,961 7,651,545 1,973,416
2 366,200
Xl 4,833,000
J| 1,337,761
=) 3,088,000

NZHAESBAILAY 3,000,000 1,700,000 1,300,000
Xl 3,000,000

403 XM SA=0l& 3,000,000 1,700,000 1,300,000
X 3,000,000

01 HIXSHMA=2E X 3,000,000 1,700,000 1,300,000
OANZELAESBEAEHE (NS ZHI) 3,000,000
Xl 3,000,000
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40 5 4

VEEBIE =M
AFPALESHALS
HAES LSS

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

01 HIXNHHNBHNEES 36,000 36,000 0
OZSFATHAEE2S XA 30,000
O34 HAESEM=H 6,000

oMY ES2 LS 48,000 48,000 0

308 A EHHSOIA 48,000 48,000 0

01 HXNHHNBHELS 48,000 48,000 0
ON3FEAEMIESEZIOHRH 33,000
OFaxduZnad=zg 15,000

SEATUESIECNHIA 612,000 600,000 12,000
= 183,600
= 428,400

307 21201 A 612,000 600,000 12,000
= 183,600
< 428,400

10 ALSISXAIEEER2IHEX 612,000 600,000 12,000
OEEAEESIEMUHIA 612,000
= 183,600
= 428,400

ANZEALES=HALEHAYE X S A XX & 236,760 213,240 23,520
J| 236,760

308 AHAIEHHSOIA 236,760 213,240 23,520
J| 236,760

01 HIXNHHNBMNEELES 236,760 213,240 23,520
OANZELAESEAIEEAE X S ABXI X 236,760
J| 236,760

HEAUSHEANLEZZOHR2IIR 4,000 23,450 A 19,450
J| 4,000

308 XXM SOl A 4,000 21,150 A 17,150
J| 4,000

01 IXNHHBNEES 4,000 21,150 A 17,150
OANZEAESBANLZIZ JHA2AXE 4,000
J| 4,000

ELHEHAA 59,100 57,100 2,000
J| 50,200
< 8,900

307 21201 A 10,000 8,000 2,000
J| 5,000
< 5,000

11T M3 SXAISEEX 10,000 8,000 2,000
OEFHAd =24 10,000
J| 5,000
< 5,000

308 XX EHHSOIA 49,100 49,100 0




M ox
40 5 4

VEEBIE SN OEETH
AVHALURHUDS
HAUSHEENR

AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
Il 45,200
< 3,900
01 IXNHHBNEES 49,100 49,100 0
OAZEHRARS =29 32,200
J| 32,200
OFA2EANLE2IAJ}S XA 16,900
| 13,000
< 3,900
dadso2 &gs 65,000 20,000 45,000
= 65,000
308 XXM S0 A 65,000 20,000 45,000
= 65,000
01 AXNSHHBLAEES 65,000 20,000 45,000
OFa@sotel X 65,000
= 65,000
ELEHHSEOE A 138,600 138,600 0
=2 117,600
< 21,000
308 X XIEHHSOIA 138,600 138,600 0
=2 117,600
= 21,000
01 IXNHHBANEES 138,600 138,600 0
OEEA2EHES0ENE 49,000
= 28,000
< 21,000
OANZEAEHSEOEX A 89,600
= 89,600
28NS 03td 02 X3 1,360,841 1,110,395 250,446
| 1,046,801
< 314,040
308 XXM S0l A 1,360,841 1,110,395 250,446
| 1,046,801
< 314,040
01 IXNHHBNEES 1,360,841 1,110,395 250,446
OFA2ESNSOHM0I 2 X2 1,360,841
J| 1,046,801
< 314,040
HAEHSHAAMNINHNEIZ NSERY 20,000 20,000 0
308 XX EHHSOIA 20,000 20,000 0
01 AXHHILEES 20,000 20,000 0
OFA2FHMHALMEAEZ2 DS 2 S 20,000
FAESHZNE 33,000 10,000 23,000
307 21201 A 33,000 10,000 23,000
11 ABI=Z XA B 33,000 10,000 23,000
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